Year 2 Spring 2 Maths Activity Mat 3

Section 1 Section 2 Section 3 Section &
What 3D shape What is the next day? Which two coins add up to
14 + =20 has no vertices? 12p?
Tuesday, Wednesday,
Thursday,
-8=15
4 x =40
Section 5 Section 6 Section 7 Section 8
How many halves are Use the correct unit of Are the numbers below odd
there? measure for time. or even? Write O (odd) or E
(even) for your answer. :
The song lasted for four T less than 15.
22 =
15 =
0 =
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Year 2 Spring 2 Maths Activity Mat 3 Answers

How many halves are
there?

Use the correct unit of
measure for time.

The song lasted for four

{ minutes ]

Are the numbers below odd
or even? Write O (odd) or E
(even) for your answer.

22=|E
15=| 0
9=[0

Section 1 Section 2 Section 3 Section &
What 3D shape What is the next day? Which two coins add up to
14+ 6 (=20 has no vertices? 12p?
Tuesday, Wednesday,
Thursday,
23 [-8=15
4x]110 |=40 sphere Friday 10p + 2p
Section 5 Section 6 Section 7 Section 8

7 is| 8 [less than 15.
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Year 2 Spring 2 Maths Activity Mat 3

How many halves are

there? ‘D

Use the correct unit of
measure for time.

The plane journey to
America lasted for
seven

Are the numbers below odd
or even? Write O (odd) or E
(even) for your answer.

16 is
57 = than 32.
82 =
61 =

Section 1 Section 2 Section 3 Section &
What 3D shape What is the previous day? Which three coins add up
26 + =50 has six identical to 16p?
faces?
-23 =11
, Tuesday,
8 x - 40 Wednesday, Thursday
Section 5 Section 6 Section 7 Section 8

less

W**
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Year 2 Spring 2 Maths Activity Mat 3 Answers

How many halves are
there?

Use the correct unit of
measure for time.

The plane journey to
America lasted for
seven

hours ]

Are the numbers below odd
or even? Write O (odd) or E
(even) for your answer.

57=(0
82=|E
61=0

Section 1 Section 2 Section 3 Section &
What 3D shape What is the previous day? Which three coins add up
26 +| 24 | =50 has six identical to 16p?
faces?
34 -23=11 Monday
, Tuesday,
_ Wednesday, Thursday
8x| 5 |=40 cube 10p + 5p +1p
Section 5 Section 6 Section 7 Section 8

16 is | 16 | less

than 32.
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Year 2 Spring 2 Maths Activity Mat 3

Section 1 Section 2 Section 3 Section &
What 3D shape What is the next day in Which three coins add up
56 + = 82 has two triangular the sequence? to £2.607
faces and three
rectangular faces?
-19 =17 . J Wednesday, Friday,
Sunday,
9 x =45
Section 5 Section 6 Section 7 Section 8
How many quarters are Use the correct unit of Are the numbers below odd
measure for time. or even? Write O (odd) or E
(even) for your answer. :
The oak tree took three fory 57 1s less
103 = than 73.
to grow as tall as my 152 =
swing. 98 =
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Year 2 Spring 2 Maths Activity Mat 3 Answers

there?

10

measure for time. or even? Write O (odd) or E

(even) for your answer.
The oak tree took three

103 = Q0
years
to grow as tall as my 152 = E
swing. 98 = E

Section 1 Section 2 Section 3 Section &
What 3D shape What is the next day in Which three coins add up
56 +| 26 | = 82 has two triangular the sequence? to £2.60?
faces and three
rectangular faces?
36 |-19 =17 . J Wednesday, Friday,
Sunday,
Ix| 5 |=45 Triangular prism Tuesday £2 + 50p + 10p
Section 5 Section 6 Section 7 Section 8
How many quarters are Use the correct unit of Are the numbers below odd

57is | 16 | less

than 73.

twinkl.co.uk

pppppppp

Quality Standar

.
.
Vs



